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B.Com. (SECOND YEAR) EXAMINATION, 2019 

A.B.S.T. 

Paper – III 

COST ACCOUNTING  

Time: Three Hours 

Maximum Marks: 100 
 

         PART – A ¼[k.M & v½¼[k.M & v½¼[k.M & v½¼[k.M & v½      [Marks: 20] 

Answer all questions (50 words each). 

All questions carry equal marks. 

lHkh iz’u vfuok;Z gSaA izR;sd iz’u dk mŸkj 50 'kCnksa ls vf/kd u gksA  

lHkh iz’uksa ds vad leku gSaA 

         PART – B ¼[k.M & c½¼[k.M & c½¼[k.M & c½¼[k.M & c½      [Marks: 50] 

Answer five questions (250 words each). 

Selecting one from each unit. All questions carry equal marks. 

izR;sd bdkbZ ls ,d&,d,d&,d,d&,d,d&,d iz’u pqurs gq,] dqy ik¡pik¡pik¡pik¡p iz’u dhft,A 

izR;sd iz’u dk mŸkj 250 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 

           PART – C ¼[k.M & l½¼[k.M & l½¼[k.M & l½¼[k.M & l½      [Marks: 30] 

Answer any two questions (300 words each). 

All questions carry equal marks. 

    dksbZ nks iz’unks iz’unks iz’unks iz’u dhft,A izR;sd iz’u dk mŸkj 300 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 
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PART – A @ @ @ @ [k.M[k.M[k.M[k.M& v& v& v& v 

Q.1 (i) Explain methods of costing or cost Ascertainment. 

  ykxr fu/kkZj.k ;k ykxr Kkr djus dh fof/k;k¡ crkb;sA 

 (ii) What is meant by ABC analysis of material control? 

 lkexzh fu;a=.k dh ABC fo’ys"k.k ;kstuk ls D;k vk’k; gS\ 

 (iii) What do you mean by Labour Turnover?  

  Je fudklh ls vkidk D;k vfHkizk; gS\ 

 (iv) Define overheads and give their classification.  

  mifjO;;ksa dh ifjHkk"kk nhft;s rFkk mldk oxhZdj.k crkb;sA 

 (v) Write names of any four industries in which unit costing method is applied.  

  fdUgha pkj m|ksxksa ds uke fyf[k;s ftuesa bdkbZ ykxr fu/kkZj.k jhfr dk iz;ksx fd;k tk ldrk 

 gSA 

 (vi) Define process costing method. 

  izfØ;k ykxr fu/kkZj.k jhfr dks ifjHkkf"kr dhft;sA 

 (vii) What do you mean by Activity Based costing? 

  fØ;k vk/kkfjr ykxr ys[kkdau ls D;k rkRi;Z gS\ 

 (viii) What is Integrated Accounting? 

  ,dhÑr ys[kkdau D;k gS\ 

 (ix) What factors will have to be considered in taking a decision as regards ‘Own or 

Lease’? 

  ^Ø; djsa vFkok iÍs ij ysâ  laca/kh fu.kZ; ysus gsrq fdu rRoksa ij fopkj fd;k tk;sxk\ 

 (x) What do you know about break - even – point? 

  le foPNsn fcUnq ls vki D;k le>rs gSa\ 

PART – B @ @ @ @ [k.M[k.M[k.M[k.M& & & & cccc    

UNIT –I@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – I 

Q.2 Explain different techniques of costing.  

 ykxr ys[kkadu dh fofHkUu izfof/k;k¡ ¼rduhdsa½ le>kb;sA 
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OR@@@@vFkokvFkokvFkokvFkok 

Q.3 Record the following transactions in the stores Ledger Account of X Ltd. 

 X fyfeVsM dh LVksj [kkrk cgh esa fuEu O;ogkjksa dks ntZ dhft;sA 

 15. 1. 18 Receipts 250 units costing `312.50 

                izkfIr 250 bdkbZ;k¡ % ykxr 312-50 ` 

 21. 2. 18 Receipts 100 units costing `130 

                izkfIr 100 bdkbZ;k¡ % ykxr 130 ` 

 24. 3. 18 Receipts 50 units costing `67.50 

                izkfIr 50 bdkbZ;k¡ % ykxr 67-50 ` 

 5. 4. 18 Issue 55 units 

               fuxZeu 55 bdkbZ;k¡ 

 19. 4. 18 Receipts 50 units costing `70 

                izkfIr 50 bdkbZ;k¡ ykxr 70 ` 

 25. 4. 18 Issue 300 units 

                fuxZeu 300 bdkbZ;k¡ 

 3. 5. 18 Issue 40 units 

               fuxZeu 40 bdkbZ;k¡ 

 The issues on 5. 4. 18 and 25. 4. 18 were priced at LIFO and FIFO basis respectively as 

from 1. 5. 18 it was decided to price the issue at weighted Average price. 

 lkexzh fuxZeu 5- 4- 18 rFkk 25- 4- 18 dks Øe’k% vfUre vkxeu izFke fuxZeu rFkk izFke vkxeu 

izFke fuxZeu vk/kkj ij fd;k x;k FkkA 1- 5- 18 ls ;g fuf’pr fd;k x;k fd blds ckn fuxZfer 

lkexzh dk ewY; Hkkfjr vkSlr ewY; ds vk/kkj ij yxk;k tk;sxkA 

UNIT –II@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – II 

Q.4 Explain the methods of time – keeping. 

 le; dk ys[kk j[kus dh fof/k;ksa dk o.kZu dhft;sA 

OR@@@@vFkokvFkokvFkokvFkok 
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Q.5 In a factory department a machine costs `11,500. It is expected that it will work for 

about 20,000 hours and its scrap value is estimated at `1500. The rent of the factory 

department is ̀ 400 p. m. and 25% of the area of the department is utilized for conducting 

the operation of the machine. One foreman & one attendant are employed on a salary of 

`200 & `100 p. m. respectively, to work on one more machine of a similar type. The 

expenses of the month incurred in the department are as under. 

 Light charges for the department `80, having 16 points in all, out of which only 4 points 

are issued at this machine. Total power used for two machine of equal horse – power 

`320.  

 Indirect Labour for the machine `50 and repairs and renewals `40. You are required to 

find out the machine hour Rate for one month (four weeks) when it is expected to work 

for 40 hours a week. 

 ,d dkj[kkuk foHkkx esa ,d e’khu 11-500 ` ykxr dh gSA ;g vk’kk dh tkrh gS fd ;g 20]000 

?kaVs dke nsxh rFkk bldk vuqekfur vo’ks"k ewY; 1500 ` gSA dkj[kkuk foHkkx dk fdjk;k 400 ` 

izfrekg gS vkSj foHkkx dk 25% {ks=Qy bl e’khu dh lapkyu fØ;k esa iz;ksx esa vkrk gSA ,d 

QksjeSu rFkk ,d lgk;d Øe’k% 200 ` o 100 ` ekfld osru ij fu;qDr gS] tks blh izdkj dh ,d 

vkSj e’khu ij Hkh dke djrs gSaA foHkkx ij fd;s x;s ekfld O;; bl izdkj gaSA 

 foHkkx dk izdk’k O;; 80 ` ftlesa dqy 16 ikWbaV gSa vkSj ftuesa ls dsoy 4 ikabV bl e’khu ds dke 

vkrs gSaA leku gklZ ikWoj dh nks e’khuksa ij O;; dh xbZ dqy 'kfDr dh jkf’k 320 ` e’khu dk 

vizR;{k Je 50 ` rFkk ejEer o uohuhdj.k 40 `A  

 vki ,d ekg ¼pkj lIrkg½ dh e’khu ?kaVk nj Kkr dhft;s tcfd blds ,d lIrkg esa 40 ?kaVs dke 

djus dh vk’kk gSA 

UNIT –III@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – III 

Q.6 A product passes through two distinct processes A and B and then to finished stock. 

From the following information prepare process accounts. 

 ,d oLrq dks A rFkk B nks fHkUu & fHkUu izfØ;kvksa }kjk mRikfnr dj fufeZr eky esa vUrfjr fd;k 

tkrk gSA fuEufyf[kr lwpukvksa ds vk/kkj ij izfØ;k [kkrs cukb;sA 
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OR@@@@vFkokvFkokvFkokvFkok 

Q.7 What is meant by ‘Operating costing’? In which industries is it used? Prepare a 

Transport operating cost sheet and discuss the various items included in it.  

 ifjpkyu ykxr fu/kkZj.k jhfr ls D;k vfHkizk; gS\ ;g fdu & fdu m|ksxksa esa viukbZ tkrh gS\ ,d 

;krk;kr ifjpkyu ykxr i= rS;kj dhft;s rFkk blesa lfEefyr enksa dks le>kb;sA 

UNIT –IV@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – IV 

Q.8 Find out the profit as per costing records and financial accounts from the following 

information and reconcile the results. 

 fuEu rF;ksa ds }kjk ykxr ys[kksa ,oa foÙkh; ys[kksa ds vk/kkj ij ykHk Kkr dj nksuksa ds ifj.kkeksa dk 

feyku dhft;sA 

  
  

 

 

 

  

 

 

  

 

 Process A Process B 

Material lkexzh 24, 000 12, 000 

Direct Labour izR;{k Je 28, 000 16, 000 

Expenses O;; 7, 800 8, 096 

Input 10,000 units in 

process A                  

¼mRiknu izfØ;k A esa½ 

20, 000 - 

Normal wastage (on input) 

¼lkekU; {k; buiqV ij½ 
5% 10% 

Output in Units          

¼mRiknu bdkbZ;ksa esa½ 
9, 400 8, 500 

 Product  A Product B 

Number of units product & sold                                               

¼dqy bdkbZ;ksa mRiknu dj csph½ 

600 400 

Direct Material ¼izR;{k lkexzh½ `3, 600 2, 800 

Direct Wages ¼izR;{k Je½ `3, 000 2, 400 

Selling price per unit                

foØ; ewY; izfr bdkbZ 

`25 30 
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 Work overhead is charged at 60% of prime cost and office overhead at 40% of work 

overhead Actual works expenses amounted to ̀ 4, 500 and office expenses `3, 900 there 

were no opening and closing stocks.  

 dkj[kkuk mifjO;; ewY; ykxr dk 60% rFkk dk;kZy; mifjO;; dkj[kkuk mifjO;; dk 40% 

yxk;k tkrk gSA okLrfod dkj[kkuk O;; 4500 ` rFkk dk;kZy; O;; 3900 ` yxsA izkjafHkd rFkk 

vafre LVkd ugha gSA 

OR@@@@vFkokvFkokvFkokvFkok 

Q.9 Define Integrated Accounts and Cost Control Accounts. State the advantages of 

Integrated Accounts and explain how they differ. 

 ,dhd`r ys[ks rFkk ykxr fu;a=.k [kkrs dks ifjHkkf"kr dhft;sA nksuksa esa varj crkrs gq, ,dhd̀r ys[kksa 

ds ykHk crkb;sA 

UNIT –V@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – V 

Q.10 The turnover and profits during two periods were as follows.  

 nks vof/k;ksa ls lacaf/kr foØ; dh jkf’k rFkk ykHk fuEu izdkj gSaA  

 Period I Period II 

Sales ¼foØ;½ `5, 00, 000 7, 50, 000 

Profit ¼ykHk½ `50, 000 1, 00, 000 

  

 Calculate – 

 (i) P/V Ratio 

 (ii) Break even sales 

 (iii) Sales required to earn a profit of  `1, 25,000 

 (iv) Profit earned when sales are `3, 50, 000 

 ifjdyu dhft;s & 

 (i) ykHk ek=k dk vuqikr  

 (ii) lefoPNsn foØ; 

 (iii) 1, 25, 000 ` dk ykHk vftZr djus gsrq vko’;d foØ; dh jkf’kA 

 (iv) 3, 50, 000 `ds foØ; ij vftZr gksus okys ykHk dh jkf’kA 

OR@@@@vFkokvFkokvFkokvFkok 
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Q.11 Write short notes on the following – 

 (a) Margin of safety 

 (b) “Determination of product mix” with reference to marginal costing. 

 (c) Labour efficiency variance 

 (d) Overhead variance analysis     

 fuEu ij fVIi.kh fyf[k;s & 
 ¼v½ lqj{kk lhek 
 ¼c½ ^^mRiknu feJ.k fu/kkZj.k^^ lhekUr ykxr ys[kkdau lanHkZ esaA 
 ¼l½ Je dk;Zdq’kyrk fopj.k 
 ¼n½ mifjO;; fopj.k fo’ys"k.k 

PART – C @ @ @ @ [k.M[k.M[k.M[k.M& & & & llll 
Q.12 What is meant by Cost Accounting? Explain briefly the objects and advantages of cost 

Accounting.  

 ykxr ys[kkdau ls vki D;k le>rs gSa\ ykxr ys[kkdau ds mís’; ,oa ykHk dk laf{kIr esa o.kZu 
dhft;sA 

Q.13 What is meant by premium of Bonus plan of payment wages? Explain Halsey and 

Rowan Bonus plan. 

 etnwjh Hkqxrku dh izhfe;e vFkok cksul ;kstuk ls D;k vk’k; gS\ gkYls ,oa jksou cksul ;kstuk dks 
le>kb;sA 

Q.14 A Firm of Building Contractors began to trade on 1st April 2018. The following expenses 

were incurred on a contract which was taken for `1, 50, 000. 

 ,d Hkou ds Bsdsnkj dh QeZ us 1 vizSy 2018 dks O;kikj izkjaHk fd;k rFkk 1, 50, 000 ` ewY; ds 

Bsds ij fd;s x;s O;; fuEufyf[kr Fks & 

   

  

  

 

 Cash received on account to 31st March 2018 amounted to `6, 4000 being 80% of the 

work certified. Of the plant and materials changed to the contract plant which cost        

`1, 500 and materials which cost `1, 250 were lost. On 31st march 2018 plant which 

cost `1, 000 was returned to stores the cost of work done but un certified was `500 and 

materials costing `1, 150 were in hand on site. Changes 15% per annum depreciation 

on plant reserve 
�

�
 profit received and prepare contract account from the above 

particulars.  

Material lkexzh 25, 500  

Plant issued la;a= fuxZfer 7, 500 

Wages Je 40,500  

Other expenses vU; O;; 2, 500 
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 31 ekpZ 2018 rd 6, 4000 ` izkIr gqvk tks izekf.kr dk;Z dk 80 izfr’kr gSA bl Bsds ij fuxZfer 

la;a=ksa rFkk lkexzh esa ls 1, 500 ` ykxr ds lap; rFkk 1, 250 ` ykxr dh lkexzh [kks xbZ Fkh 31 

ekpZ 2018 dks 1, 000 ` dh ykxr dk lap; LVksj dks okil dj fn;k x;k vizekf.kr dk;Z dh 

ykxr 500 ` Fkh rFkk dk;ZLFky ij 1, 150 ` dh lkexzh 'ks"k jghA lap; ij 15% okf"kZd âkl 

yxkuk gS rFkk izkIr ykHkksa dk vk/kk Hkkx lap; djuk gSA mijksDr rF;ksa ls Bsdk [kkrk cukb;sA 

Q.15 Give the main journal entries of Integrated Accounting system. 

 ,dhd`r ys[kkdau fof/k dh eq[; tuZy izfof"V;k¡ nhft;sA 

Q.16 From the following particulars calculate the following material variances and give their 

relationships – 

 (a) Material cost variance 

 (b) Material usage variance 

 (c) Material price variance 

 (d) Material mix variance  

 (e) Material sub – usage variance  

 fuEufyf[kr fooj.kksa ls fuEu lkexzh fopj.kksa dh ifjx.kuk dhft;s rFkk mudk laca/k crykb;s & 

 ¼v½ lkexzh ykxr fopj.k 

 ¼c½ lkexzh iz;ksx fopj.k 

 ¼l½ lkexzh ewY; fopj.k 

 ¼n½ lkexzh feJ.k fopj.k 

 ¼b½ lkexzh mi & iz;ksx fopj.k 

   

----------------------------------------- 

Material 

lkexzh 
 Standard 

izek.k 
 Actual 

okLrfod 
 Qty. Price Qty. Price 
 ek=k 

kg 

ewY; 
` 

ek=k 
kg 

ewY; 
` 

A 10 8 10 7 

B 8 6 9 7 

C 4 12 5 11 

 22  24  


